Name     
Hardware                

1. A microwave has an ‘embedded’ computer. What does this mean?

     
2. There a several different types of computer. Name 3 different types.

     
3. Which of the devices listed here is not a peripheral device?

 FORMDROPDOWN 

4. Which part of the computer is the ‘brain’ ?

   
5. Complete the table to show the main features of the 2 types of memory in a computer.

	
	RAM
	ROM

	Memory
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	Volatility
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	Storing Programs
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	Time scale
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	Loading programs
	 FORMDROPDOWN 

	 FORMDROPDOWN 



6. Computers are programmable. What does this mean?

Write your answer here
7. Look closely at the list of peripheral devices and then type each one into the correct column of the table.

Printer    Scanner    Mouse    Keyboard     Monitor
   Web Cam    Joystick     OMR       Plotter     CD Rom

	INPUT
	OUTPUT

	Write here
	Write here

	Write here
	Write here

	Write here
	Write here

	Write here
	Write here

	Write here
	Write here


8. Here are 3 different types of printer, Laser, Dot Matrix, Ink Jet. 

For each type write down an advantage and a disadvantage if you were going to recommend one of them to a friend.

Laser advantage

     
Laser disadvantage
Write here
Ink Jet advantage
Write here
Ink Jet disadvantage
Write here
Dot Matrix advantage

Write here
Dot Matrix disadvantage
Write here
9. A friend has asked for your advice about buying a new printer for his home computer.

10. What would be the 3 main features you would tell him to consider before he buys one?

a. Write here
b. Write here
c. Write here
11. Why would you recommend a Flat screen TFT rather than a tube CRT screen?

Write here
12. What do these Acronyms stand for?

OMR
Write here
OCR
Write here
PPM
Write here
MICR 
Write here
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13. 





A



B


C


Complete the table to show the features of each type of network using these key terms …    

Expensive     Economical       Single Cable    Many Cables        Reliable  Unreliable

Links to Server     Links to Other PC’s

	
	A
	B
	C

	Cost to set up
	Write here
	Write here
	Write here

	Number of cables
	Write here
	Write here
	Write here

	LInks
	Write here
	Write here
	Write here


13. Why would a Ring Network NOT be the most ideal network TOPOLOGY to use in a classroom? Write down and explain 2 reasons.

a. Write here
b. Write here
14. Complete the table to show the main features of different methods of saving and storing data.

	TYPE
	Capacity
	Storage Type

	Hard Disc
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	Floppy Disc
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	Tape Drive
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	CD ROM
	 FORMDROPDOWN 

	 FORMDROPDOWN 


	DVD
	 FORMDROPDOWN 

	 FORMDROPDOWN 



15. What is the full name of the CPU in a computer?

Write here
16. Which of these statements are True or False about Microprocessors?

They create programs when you click on start

 FORMDROPDOWN 

They perform mathematical calculations


 FORMDROPDOWN 

They make decisions




 FORMDROPDOWN 

They move and copy data from one place to another
 FORMDROPDOWN 

17. Processors use BINARY CODE as a way to recognise information.        Binary Code is made up of a series of 1’s and 0’s. Study the table and complete the blank spaces by typing in the correct series of 1’s and 0’s. 

	NUMBER
	BINARY

	1
	1

	2
	10

	3
	11

	4
	Write here

	5
	Write here


18. Computers also use BITS ( or Binary Digits). When 8 BITS of information are placed in sequence it makes a BYTE.




In this example the number shown in the bit pattern chart is = 134 


This is worked out by adding (1 x 128) + (1 x 4) + (1 x 2)  = 134.

Now try to work out the bit pattern numbers for the other examples. ( show your working ).

1 0 0 1 0 0 1 1 = Answer and working here
1 1 0 0 1 1 0 1 = Answer and working here
0 1 1 1 1 0 1 1 = Answer and working here
32





1





2





4





8





16





64





128





0





0





0





0





1





1





0





1








